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Using cylindrical cordinates X= rest
,

OftEaET.

yar stif
z=2 =2r

.
24Z6

#
2Ir6 /rey

.

So perameterizatio is grin by
(1) = resta + rsinft + ar&



A
=garxFaddt.I
= /-2restn-Irsing + Cress28+r size)E
=/-Ireosti-Irsmaptru/
=)(4r58) + [4r2suict) +ri)
== r .

so A= drd=9-=



Es

↑(a,2) = Jsm2 +6sm + zE
,
0xfEi -

To = Gess28 +Rsmitcstj + Ok
E = 04 +Oj +E



S roxtz= /20rest = 12sinrust-boszap +O .

8

at the point (5 ,2)2( ,0), Cartesian Equation :

Taxz(
,0)

= 35m +3) +04 .
by example 3 , this is quien by

So tangent plane quien by
x= (y-3) =9+ (y-3)=

35(x=3) +3(y-z)+ = 0 -
x+y

=9

353x - 27 +y
-2 = 8. e(= 35X +3y

= 27

I -v5X +y
= 9



Es

a) Ya

"I
z clear that X coord isnot

changed inthe revolution. She
Char that in yz plane, z
point lies on circle



with radius giul . So
y
= gluicov , z= glus skiv.

where visthe angle. (OPVE25).

Sougg
↳
y=

So anreis quien by (n,5) ., upo (y0= 0 = up0).
and surface of revolution quien by
↑ (n ,v) = ui + incosutrasmit

Y



11S Integrate the grien function over the grien surface

surface param by : Veres t z= 1-r2 (oxr())-
z =z .

so F(r, 8) = rost + rsib]+-ri
-

FrCostsSt
Irel = JorI = Kesson+2r sit + (ress28 + rsui)-Isn't rest o

=57 +4r4st+=FP=) =r



H(x ,y ,z)
= reco =#05 =Fosr

Soffrizder= trotriter) drel

-ric(H)dad +dea

From da=2 +=221) do

=3rd=t



46 Triangle:OPY
f(x ,y) = x+y2
G(x ,y ,f(x ,y)) = x+yz- X

=

y
If = (1 , zy)
liff = R+ (2y* = 1+4y2

Syd= ]'yey = Sxyzydy



= jydy=gre)


